



**Selection Notification No.: 02/Diploma/Certificate**  
**(Distance Mode) [Session 2026]**

- I) The Candidates, whose particulars are mentioned below have been provisionally selected for admission to **Diploma and Certificate Courses through Distance Mode** offered by this University purely on the basis of score obtained in the Qualifying Examinations.
- II) Provisionally selected candidates are required to download their “**Admission Form**” from the official website of the University under “**Admissions**” tab on the home page and click on “**Submit Admission Form for 1<sup>st</sup> Semester**” from **25<sup>th</sup> February, 2026 (Saturday)** by entering **Application Form Number and DOB**.
- III) The provisionally selected candidates shall complete the admission form and visit the Centre for Distance and Online Education, University of Kashmir for **completing the admission formalities by or before 5<sup>th</sup> March 2026 (4:30 p.m.) on working days only**.

**Important Note:**

The Director, Centre for Distance and Online Education, who is the Chairman of Departmental Admission Committee, shall ensure that all the provisionally selected candidates possess the minimum required eligibility. The same may be verified with reference to the original documents/certificates of the candidates. The admission form of only eligible candidates should be accepted online and may be allowed to deposit fee via online mode.

**The admission of the candidates is subject to:**

1. Production of all relevant original documents [Marks Certificate/Transcript of qualifying examination, Reserved Category Certificate, Migration Certificate (wherever applicable)].
2. Production of eligibility cum revival of registration/migration form, wherever applicable, alongwith prescribed fee;
3. Fulfilling of minimum required eligibility conditions to be verified by the concerned Centre;
4. Clearance be sought from the Academic Section in respect of candidates having qualified examination from Universities/Institutions other than Universities/ Institutions of Jammu, Kashmir and Ladakh;
5. Production of an affidavit sworn in before **1<sup>st</sup> Class Judicial Magistrate** stating that:

- ✓ **I am not on the rolls of any Institution for any Distance Mode programme;**
- ✓ **All the submitted certificates/documents are genuine and authentic;**
- ✓ **I shall strictly adhere to the rules and regulations of the University of Kashmir in toto;**
- ✓ **I understand that in case of any misinformation or concealment of any information or indiscipline or misconduct, my admission to the programme shall be cancelled and I shall be subject to legal action;**
- ✓ **I submit this affidavit under free will without any pressure, compulsion or fraud.**

6. The provisionally selected candidates shall approach, alongwith the admission form and all the relevant certificates and documents (original and self-attested Xerox copies) to the

concerned Centre for verification of documents/certificates and online acceptance of Admission form for depositing the prescribed Fee via online mode upto **5<sup>th</sup> March 2026**.

7. The provisionally selected candidates from outside Kashmir Division can complete their admission formalities at **Regional Centre for Distance Learning, Bathandi, Jammu**.
8. Any provisionally selected candidate **failing to complete the admission formalities upto 5<sup>th</sup> March 2026 (4:30 p.m.) shall forfeit his/her right to admission** and the resultant vacancy (ies), if any, shall be filled up from among the waiting list.
9. The Director (CDOE) is hereby informed to kindly forward the vacancy list (if any) on **5<sup>th</sup> March 2026** upto **04:40 p.m.**, so that waiting list is operated.
10. Please note that all the Notifications shall be made available only on the Official website of the University and notices shall neither be published in print media nor shall any candidate be informed individually.
11. Notices uploaded on the official website of the University shall be deemed to have been served to the candidates.
12. For any further assistance please contact on below mentioned contact numbers or e-mail **dde@uok.edu.in**
  - a) **Sub Office Jammu** - **9906803474**
  - b) **Centre for Distance and Online Education** - **9419008818**
  - c) **Directorate of Admissions** - **7006795110**

Sr.	Form No.	Name	MM	MO	%age
<b>Diploma in Business Administration</b>					
1	26610688	ADIL RASHID MALIK	1360	880	64.71
2	26610699	SYED OVAIS INDRABI	1800	1073	59.61
3	26610631	SHOWKAT AHMAD DAR	1800	960	53.33
4	26610667	NAYIK AABID HUSSAIN	1800	830	46.11
<b>Diploma in Business Entrepreneurship</b>					
1	26610643	AFROZ AKHTER	1800	909	50.50
<b>Diploma in Computer Applications</b>					
1	26610698	SIMRAN JAHANGEER	1000	832	83.20
2	26610662	FAZILLA AYOUB	10	7.7	77.00
3	26610701	IFRAH ASHRAFWANI	3600	2716	75.44
4	26610654	PEERZADA GAZANFAR SHAH	2800	2081	74.32
5	26610634	ARHANA MOHI UD DIN	10	7.43	74.30
6	26610677	ALIASA BASHIR	10	6.97	69.70
7	26610601	KHURSHID AHMAD RATHER	10	6.82	68.20
8	26610612	MUSTUFA RASHID KHAN	640	425	66.41
9	26610071	MUZAMMIL HUSSAIN	2600	1723	66.27
10	26610624	ASIF HASSAN MIR	1400	924	66.00
11	26610621	FARSHEEN NABI	10	6.58	65.80
12	26610664	FAZILAH FAROOQ	10	6.5	65.00
13	26610695	REHANAH FAROOQ	1400	894	63.86
14	26610663	BELQUASH FATIMA	10	6.25	62.50
15	26610608	AMIR NAZIR	1800	963	53.50
<b>Diploma in Criminal Justice</b>					
1	26610653	GAUTAM SHARMA	1400	1006	71.86
2	26610685	YASMEENA MUKHTAR	6700	4620	68.96
3	26610640	RABIYA KHURSHEED	1000	689	68.90
4	26610471	REHAN UL ISLAM	6240	4256	68.21
5	26610683	SABIYA JAN	6700	4498	67.13
6	26610610	NADEEM KHALIQ GANIE	5200	3436	66.08
7	26610644	SEERAT MANZOOR	6240	4031	64.60
8	26610632	ABID QAYOOM BHAT	1200	762.2	63.52

9	26610666	NAZISH AMIN	6240	3943	63.19
<b>Diploma in Cyber Law</b>					
1.	26610639	SALICA SHAHEEN	10	9.09	90.90
2.	26610642	AZMAT SHAHEEN	10	8.96	89.60
3.	26610687	MAHRUKH SULTAN	100	88.2	88.20
4.	26610512	ASIF ALI RATHER	4450	3581	80.47
5.	26610615	HEENA NAQUSHBANDI	10	7.96	79.60
6.	26610659	MEHAK MANZOOR	4450	3471	78.00
7.	26610668	MEHANDHI YASEEN	4450	3470	77.98
8.	26610514	RUTBA TARIQ	4450	3388	76.13
9.	26610237	AHMAD HUSSAIN AKHONE	300	213.3	71.10
10.	26610194	MANAYA MAHAJAN	5400	3825	70.83
11.	26610433	BILAL AHMAD DOBI	1380	960	69.57
12.	26610700	SHAHID MUSHTAQ RATHER	10	6.93	69.30
13.	26610640	RABIYA KHURSHEED	1000	689	68.90
14.	26610601	KHURSHID AHMAD RATHER	10	6.82	68.20
15.	26610689	WAKAR AHMED CHOWDHARY	5200	3429	65.94
16.	26610652	ISHRAT RAMZAN	750	490	65.33
17.	26610661	MOHAMMAD TASIR HAMID	10	6.46	64.60
18.	26610278	TANISHAPREET KOUR	5400	3487	64.57
19.	26610678	SHUGUFTA LATEEF	10	6.34	63.40
20.	26610416	MUDDASSAR AHMED	1650	1033	62.61
21.	26610088	UMER FAROOQ	10	6.25	62.50
22.	26610428	SYED MOHD	750	468	62.40
23.	26610660	SAMEER AHMAD CHACHI	1000	604	60.40
24.	26610657	FAYAZ AHMAD WAGAY	1800	1014	56.33
25.	26610631	SHOWKAT AHMAD DAR	1800	960	53.33
26.	26610646	SHOWKAT AHMAD WANI	1800	936	52.00
<b>Diploma in Consumer Law and Protection</b>					
1	26610433	BILAL AHMAD DOBI	1380	960	69.57
2	26610674	ARPITA SHARMA	1200	658.32	54.86
<b>Diploma in Kashmiri Languages and Literature</b>					
1	26610635	SHEERAZ AHMAD KHAN	10	7.7	77.00
2	26610682	TABASUM HASSAIN	10	6.4	64.00
3	26610103	SORAB AHMED	1650	1046	63.39
4	26610067	SAJID IQBAL	3000	1709	56.97
5	26610440	BAL KRISHAN	1650	923	55.94
6	26610134	SHIRISH KISHOR SURYAWANSHI	1200	648	54.00
7	26610696	NISAR AHMAD GOJRI	1800	800	44.44
<b>Diploma in Pre-primary Teachers Training</b>					
1	26610656	SUNPREET KOUR	500	421	84.20
2	26610680	SANA NABI KHAN	500	401	80.20
3	26610679	UZMA FAROOQ	500	393	78.60
4	26610681	MEHVISH HASSAN	10	7.58	75.80
5	26610658	TAHIRA SHARIF	500	363	72.60
6	26610665	ZEESHAN MAQBOOL	500	361	72.20
7	26610694	MALIK ARJUMAND NISA	500	344	68.80
8	26610623	RUKAYA NAZIR	750	449	59.87
9	26610299	LOTUS CHOSZANG	700	417	59.57
10	26610622	IQRA SIDIQ ZARGAR	750	413	55.07
11	26610089	AADIL ALTAF	500	233	46.60
<b>Diploma in Tourism Management</b>					
1	26610433	BILAL AHMAD DOBI	1380	960	69.57
2	26610226	IFTA ATEEQ	1650	1008	61.09
3	26610274	LOTUS CHOSZANG	700	417	59.57

4	26610548	MOHD ASIF	2600	1449	55.73
5	26610649	SHAMSU DIN HUSSAINI	2400	1305.75	54.41
6	26610669	RAYEES AHMAD BHAT	1800	978	54.33
7	26610567	NARAYAN JI BHAGAT	1200	640	53.33
8	26610434	STANZIN TSETUP	2400	1167	48.63
<b>Diploma in Urdu Translation</b>					
1	26610645	RUKHSANA AKHTER WANI	1800	1103	61.28
2	26610041	ABID HUSSAIN	3300	2146	65.03
3	26610445	NASIA FATIMA	2600	1593	61.27
4	26610226	IFTA ATEEQ	1650	1008	61.09
5	26610232	RIFAT ATEEQ NAIK	1650	1000	60.61
6	26610225	SAFI MOHD NAIK	1650	925	56.06
7	26610674	ARPITA SHARMA	1200	658.32	54.86
8	26610647	ASMAT BATOOL	1800	961	53.39
<b>Diploma in Web Designing</b>					
1	26610433	BILAL AHMAD DOBI	1380	960	69.57
2	26610601	KHURSHID AHMAD RATHER	10	6.82	68.20
<b>Diploma in Home Science</b>					
1	26610449	AKHTAR BANO	2400	1424	59.33
2	26610064	SAJJAD HUSSAIN	1650	878	53.21
<b>Diploma in Urdu Journalism</b>					
	26610449	AKHTAR BANO	2400	1424	59.33
	26610225	SAFI MOHD NAIK	1650	925	56.06

**Sd/-**  
**Director, DACE**

**No.: F02 (Sel-Cert./Dip. (CDOE)) DACE/KU/26**

**Dated: 24-02-2026**